Iﬁeg MECHANICAL DATA
ODP - SINGLE PHASE

SHAFT
NEMA MOUNTING KEYWAY BEARINGS
A B | C |L|Cl|D |0 |P |X0 BRI,
FRAME WP | 2 |28 [2F [2F | H | K |BA s | R [es[Nw| v D.E. |0.DE.
1/4
By 10.748 [10.236 6.299
W56 |— 6.3785.669 [1.516 ozne-
112 11.142 [10.630 |6.693
4015
34 11.929 [11.417 [7.480 NPT |6203-
4.875 3.000 0.343 [1.220 [2.559 6.535 3.500 0.187 0.517 | 1 (1875 0.6250 | v | *opa
1 12.047 [11.535 |6.693
112 12.835 [12.323 [7.480 6203-
E5%6 — 6.772 |6.535 [1.300 SR
2 13.228 [12.716 |7.874
5.500 5.000 6.496
3 14.016 [13.504 [8.661

“C” FLANGE DIMENSIONS
BF AH
FLANGE | AJ AK BD

NUMBER TAP SIZE FORM C FORM J

UNC

FC-95 | 3.748 | 3.000 | 5.748 1/4"X20
4 UNG 2.063 2.563

FC-149 | 5.875 | 4.500 | 6.496 3/8"X16

- ;
\
S 1| |
] '_J\ I
3| [EEm |
X \
S X O = X O
of I F — — — —ll=3=38 +~ — —E=F3 3
o !
[ —] [ c— \
L 1 \ —1
L
H I
oF BA | AH L Ll
2F | Lc
2 | ] S |
X B
© C
[@lfe}
fell)p) ™~
IS L 7 : ES s
- Slo R0O.019 Z © : ﬁ AN N
s|s ol / [
o . J M
\. N | [ T
Ch.0.007 Ch.0.040 U | ul
N % BB i
0.137 || : ToNew
0.118 e
1.875 0.689
DETAIL X
FORM 7J” FORM J ONLY FORM "C”

-
m
£
=5
S
=3
c>
=]
=
=

B-78 Data subject to change without notice. www.weg.n et



MECHANICAL DATA Iﬁeg
ODP - THREE PHAS!

SHAFT
MOUNTING KEYWAY BEARINGS
pHEMA, Al B| ¢ || plolepr EXTENSION | pn
2 |20 | 2F |2 | 0 | k | BA s | R |Es |nw| u DE | O0DE
AS6 11.024 | 10.551
6203-2RS
B56 4015| 11.811 | 11.338 \T 6202-2RS
4.875 3.000 0.34311.220|2.559{6.535 3.5006.772|6.535|0.187 |0.517 | 1,417 | 1,874 | 0.6250 1/2”
D56 12.992 | 12520
6204-2RS
Fs6H 5.500 5.000 6.496 | 14.173 | 13.700 6203-2RS

“C” FLANGE DIMENSIONS
BF AH
FLANGE | AJ AK BD
NUMBER TAP SIZE FORM C FORM J
FC-95 | 3,748 | 3,000 | 5,748 UNC 1/4’X20
4 2,063 2,563
FC-149 | 5,874 | 4,500 | 6,496 UNC 3/8'X16

P
BF
\
|
- J
'x\’ \
1 e Ot - - -+t == ~—|=[ET 58
|
s J |l
° !
L L
K, H B8 BB
2 vid B A [__m AH
2F Lc
A 8 B
' c
g .
. ROQ1B £ Es o
7 N\ ,_| ||
o 1 ='s ] 7 —— 1
) Ch 70 L Eh.0.040 l _\
0137 N L M
1874 losss ‘ "
FORM 0" ~hA18 e
FORM J, WITH INTERNAL FORDE[AJIL[})’:LY FORM °C°

THREAD OF 1/4%28 UNF AT SHAFT-END,
FOR CLAVPING THE PUMP ROTOR.

g
a
(-
g8
=
==
x
(=3
w
=

Can’t find what you are looking for? Call 1-800-ASK-4WEG (275-4934) Data subject to change without notice. B-79



-
m
Q
=
=
o
b3
=
=}
=
>

[

B-80

JET PUMP MOTO
TEF

MECHANICAL DATA

SHAFT
#«EAMMAE MOUNTING Al s ¢ el olole KEYWAY EXTENSION | pa BEARINGS
2 |28 | 2F [2P | H | K [ BA s | R|ES[NW[ U DE | ODE
A56 11.614 | 11.102 6203-
B56 4.015(12.795 | 12.283 2RS  |6202-2RS
4.875 3.000 0.343|1.220|2.559 | 6.535 3.500 | 6.772| 6.535| 0.187 | 0.517| 1,417 | 1,874 0.6250 | NPT 1/2”
D56 13.976 | 13.464 6204-
F56H 5.500 5.000 6.498|14.370 | 13.858 2RS  |6203-2RS
“C” FLANGE DIMENSIONS
BF AH
FLANGE AJ AK BD
NUMBER TAP SIZE FORM C FORM J
FC-149 5,874 | 4,500 | 6,496 4 UNC 3/8'X16 2,063 2,563
g INGLF—F! LY ‘ INGLE-PHASE QNLY
— VN e
Va i \
@ y \
X g G ‘
0_$ ‘\ ] ﬂ Nqa] \_\_ ~ 8
T 79 =— - —|1=m=% [——14== %2
| l |
l |
. | —
! AN = s mmuy S =
Tl BB B8
o e 2 F——{=-BA=t=— AH—] ~—AH—
~— 2F" —LC
A b 2F’—--|
. S —
g s
S o 0
= R0.019 2 [N - ES —= S
/ Q
——5 3 /| b ] [
Ch.0.007-1d =l Ch.0.040 | ( 17 ]
0137+ N u L
la— N =\ ——
1.874 0.688 o0.118
THREE PHASE FORM J, WITH INTERNAL DETAIL X FORM "¢

THREAD OF 1/4"x28 UNF AT SHAFT—END,
FOR CLAMPING THE PUMP ROTOR.

FORM *J" ONLY

Data subject to change without notice.

www.weg.net



MECHANICAL DATA IEEg

CLOSE COUPLED PUMP MOTORS — JM/JP TYPE
0DP — THREE PHASE — FRAMES 182JM/JP - 213/5 JM/JP

NEMA “C” FLANGE
MOUNTIN BEARIN
R OUNTING A|B|D|G|J|K|[O| P |T|AB|A o | ok L es | eo BF
2% [ 2F [2F1 H [ BA DE. | ODE. QTY.] TAP SIZE
182 JM/JP UNC
o 7.500(4.5005.500]  |2.750/8.6616.209|4.500)  |1.171/1.988]8.307 | 7.637 6.574|  [6207-26205-22|5.875|4.500|0.157|6.496| | 4 4N0
184 JM/JP 0.406 0.187 A 4
213/5,W1g 500/5.500(7.000]  |3.500(9.449)7.952|5.250| |1.063|2.567|9.842| 8.779 |1.378|6.795|  [6200-22[6206-227.250(8.500(0.250 8.858| | 19464
SHAFT END - TYPE JM
NEMA LENGTHS DIAMETERS KEYWAY THREADED HOLE ¢
FRAMES
AH | EQ | ET | U | EM | EL | S | R | ES | DIQUNC) | T1 | T2 | UM
182.JM 14.527
184JM | 4.258 | 0.630 | 2.880 | 0.874 | 1.000 | 1.250 | 0.187 | 0.768 | 1575 | 3/8"X16-2B | 0.748 | 1.102 | 15.315
213/5 JM 17.323
SHAFT END - TYPE JP
NEMA LENGTHS DIAMETERS KEYWAY THREADED HOLE ¢
FRAMES
AH | EQ | ET | U | EM | EL | S | R | ES | DIWUNCQ) | T1 | T2 | U
182 JP 20.236
7.319 | 1.563 | 5941 | 0.874 | 1.000 | 1.250 | 0.187 | 0.768 | 1.575 | 3/8"X16-2B | 0.748 | 1.102
184 JP 21.023
213/5JP | 8.149 | 2.374 | 5.905 | 1.250 | 1375 | 1.750 | 0250 | 1110 | 2.480 | 1/2'X13-2B | 0.984 | 1.496 | 21.240

D

<<
s
fl Hale H ==
S
2E £
A : B

L+

Can’t find what you are looking for? Call 1-800-ASK-4WEG (275-4934) Data subject to change without notice. B-81



DSED COUPLED PUMP MOTOR P TYPE
DDP » PHA R A ) P — 405JP
“wpn
NEMA MOUNTING BEARINGS HEMASCRITANGE 5
AlB|D|G|J K| o | P |T|AB|A
FRAME
S T2 |2 [ |ea DE | ope | A | AK BB BD |ony T | L
8250 10100
BAIMIP Lo | P22 4250 1212 6220 | 0787 | 2520 | 2560 | 12204 | 11812 10079 69203 | 62973 | 720 8500 | |888| |
256 JM/JP 10000 1732 -
0531 2165 », — 0.551
284 JM/JP 9500 11574 :
M0 ——  |4750|13780 ——— 7000 | 1,102 | 3150 | 2963 | 13858 | 13700 10866 6311263 | 621123 1400| 4
286 JM/JP 11000
1050 8 025
S28IMIP_L 4 oy =067 | 5250 | 15160 |——| 8000 | 1299 | 3230 | 3360 | 15551 | 15,118 | 2560 | 11406 WY |et2263 |2z e
326 JM/JP 12000 14566 1000112500 \y31g9| | 5871
364/5 JM/JP | 14000 —112225'58 0750|5875 | 17170 | 15400| 9000 | 1480|3150 | 4140 | 18425 27% 0.945
oo 17874 —— 16378 | "5 631403 8
404/5 JP | 16000|-22 0807|6625 19950 17700 | 10000 | 1968 | 3950 | 540 | 19400 280 14%0
SHAFT END - TYPE JM c
Rt LENGTHS DIAMETERS KEYWAY THREADED HOLE
AH | ER | EQ | ET | U | EM | EL | EP | S | R | ES | DI@NC) | T1 | T2 M
254 JM 22,169
256 JM 1,750 23,902
284 JM 24,261
2,163 1/2"X13-
286JM | 5250 | 5250 | 0.630|3,006 | 1,249 | 1,375 | 1,750 0250 | 1,110| 2.480 | "2X13 10984 | 1496 | 25,754
324 JM 26,431
326 JM 2,360 27,927
364/5 JM 2,756 29,139
SHAFT END - TYPE JP .
FREMAS LENGTHS DIAMETERS KEYWAY THREADED HOLE
AH | ER | EQ | ET | U | EM | EL | EP | S | R | ES | DI@NC) | T1 | T2 P
254 JP 25,049
117
256 JP 170 26,782
284 JP 27,141
T 1,249 | 1,375 | 1,750 | 2,163 | 0.250 | 1,110 oy S
1/2°X13- ,
8,130 | 8,130 | 2,382 | 5,886 2,480 0.984 | 1,496
324 JP ’ ' ’ ’ 2360 ’ 2B ’ 29,311
326 JP : 30,807
364/5 JP 32,019
1624 | 1,750 | 2125 | 2,756 | 0.375| 1,41
2045 0 624 | 1,750 | 2,125 | 2,756 | 0.375 | 1,413 45263
p
AB—— = _
] )]
i
o\ ER
nl & &
|:¢I§ s @ ——I— ES 4 ; S
— Iii (] =)
15 & r o 1 Tt — T~ |— 1 %
i 1
1 N T1
| s = I 12 U
g AA | £Q
E
55 it i o
=
N Ry R
2F 8A AH
A

B-82

Data subject to change without notice.

[}

www.weg.net



MECHANICAL DATA Iﬁeg

CLOSE COUPLED PUMP MOTORS - JM/JP TYPE
TEFC - SINGLE-PHASE
NEMA MOUNTING
A B D G J K 0 P T AB AA
FRAMES | 2 | 2F H BA
CARCACA | 2 | 2F | HG BA A B D G J K 0 P AB
143JM/JP | 55 | 4 |0344| 2560 6457 | 5157 | 35 | 0547 | 1496 | 1.654 7.000 7.047 6.968 NPT 3/4”
145IM/JP | 55 | 5 |0.344| 2560 6.457 | 6142 | 35 | 0547 | 1496 | 1.654 7.000 7.047 6.968 NPT 3/4”
184JM/JP | 75 | 55 |0.406| 2756 8661 | 6969 | 45 | 072 | 1.89 1.969 9.343 8.740 1772 | 7.835 NPT 1”
213JM/JP | 85 | 55 |0406| 3.504 9764 | 7.362 | 525 | 0.827 | 2.008 | 2.165 10.841 10630 | 1.772 | 8.071 NPT 1”
215JM/JP | 85 | 7 |0406| 3.504 9.764 | 8.858 | 525 | 0.827 | 2.008 | 2.165 10.841 10.630 | 1.772 | 8.071 NPT 1”
NEMA “C” FLANGE
BEARINGS
BF
BOLT DEPTH
D.E. 0.D.E. AJ AK BB BD Qry. TAP SIZE
R. DIANT. R. TRAS. CH D1
6206 72 6203 22 5.874 4500 | 0.157 | 6.49% 4 UNC 3/8”-16 0.551
6206 7Z 6203 77 5.874 4500 | 0.157 | 6.496 4 UNC 3/8”-16 0.551
6307 22 6206 7Z 5.874 4500 | 0.157 | 6.496 4 UNC 3/8"-16 0.551
6309 77 6206 77 7.252 8.500 | 0.248 | 8.858 4 UNC 1/2"-13 0.748
6309 77 6206 77 7.252 8.500 | 0.248 | 8.858 4 UNC 1/2"-13 0.748
SHAFT END - TYPE JM
NEVA LENGTHS DIAMETERS KEYWAY THREADED HOLE ¢
FRAMES
AH | ER | EQ | ET U | EM | EL | EP S R ES D1 (UNC) iy T2 M
143 JM 15.866
1.156 |1.179
145 JM 16.458
184 JM |4.258 |4.258 [0.630 |2.880 |0.874 |1.000 1.376 |0.187 [0.767 | 1.575 | 3/8"X16-2B | 0.748 | 1.102 17.368
213IM 1.250 18.904
1.770
215 M 20.400
SHAFT END - TYPE JP
NEMA LENGTHS DIAMETERS KEYWAY THREADED HOLE ¢
FRAMES
AH | ER | EQ | ET U | EM | EL | EP S R ES D1 (UNC) T T2 JP
143 Jp 18.519
1.156 |1.179
145JP  [7.319 |7.319 |1.563 |5.941 |0.874 |1.000 0.187 [0.768 | 1.575 | 3/8"X16-2B | 0.748 | 1.102 19.519
184 JP 1.250 | 1.376 20.429
213 JP 22.776
8.130 |8.130 |2.382 [5.886 |1.249 |1.375 |1.750 |1.770 |0.250 |1.110 | 2.480 | 1/2"X13-2B | 0.984 | 1.496
215 JP 24.272

ER

<<
S
= (=]
Ll -
Y e S3
o =]
b Jdo E
] T1 g
12
EQ
ET
AH

All dimensions in inches.

Can’t find what you are looking for? Call 1-800-ASK-4WEG (275-4934) Data subject to change without notice. B-83



-
m
£
=5
S
=3
c>
=]
=
=

MECHANICAL DATA

DSED COUPLED PUMP MOTORS - JM/JP TYPE
» PHASE
NEVA MOUNTING BEARINGS NEMARCHNGE -
RAVES T T o AlB|D|G|J|K|O]| P |T]|AB|A o Ay | ax | o8 | B0 e T
E. | 0.DE. | SIzE |DEPTH
143 JW/JP 4,000 5,157 NPT | 6206- | 6204-
a5 P | 5590 5 ogig | 034 2205 6457 5271 3,500 | 0547 | 1496 | 1654 7,000| 7,047 5,905 | S, 6206+ 620
W182/4JM/JP gggg 6,969 2441|8909 7,795 6,614 6307 6205 | 5,874 /4,500 {0157 6,496 | NS 0.551
Tazawap | % (4,500 2756 8,661 5575 4500 | 0720 1.890 1969]9.343| 8.740 7086 27 [ 6206-
184 JW/JP 5,500 6,960 999,343 8, 086 |\ ot z
20010408 1772 "
W213/5JM/JP ’ 8,858 0866 3346|10003| 8,750 7,047 6309-
7,000 2-C3 | 6207-
8,500 3504 |9,764 5,250 — 2008
213 JM/JP 5,500 7,362 z
| 215 WP 0827 2,165 |10841| 10630 8,149 4
AL L7 7,000 8,858 7,252(8,500 ggsg| IO o748
Taong-]72%2|8, : xi3 |0
W254/6JM/JP 1%2(% 1732 0866 3465 | 11841| 10670 9,272 6309- | €209 3
e | 52 0531 4252 122 Fggop | 290 0817 e 2559 | 12431| 12283 | 2087 | 10079 | NPT 6209-
256 JW/JP 10000| 732 : 559 | 1243112283 | 2087 10079 4 100 c3 ot
2P| | 350 476413780 201 7000 | 1,016 | 3150 | 2953 | 14067 14,004 10866 6311~ 6211-
286 W/0P 11,000 - o8 | @ 13508
324 JW/JP 10500 ' NPT |6312- | 6212- :
o6 P 12500 3000857 (5236 15157 = 8,000 1307 3228 | 3346 | 15963 | 15591 | 2441 | 11406 | "1 | O B2 .
S Lo 11,000{ 12500 \COB") 0.945
Se b | 14016 (522210748 5866 17,165 | 15304 | 9,000 | 1480 3150 4134 | 18502 .
i o 18740| 2706 | 16380 | "7 | 631403 15562| 8
05 Jp—| 15%4 137z 0807 6614 19921 | 17677 | 10000 | 1811 | 3957 | 5433 | 19496
VA SHAFT END - TYPE JM o
e LENGTHS DIAMETERS KEYWAY THREADED HOLE
AH | ER | EQ | ET | U | EM | EL | EP | S R ES D1 (UNC) T T2 M
143 JM 14,304
1,156 | 1,179
145 JM 15,304
W182/4 JM 17,125
182 | osg | 4258 2,880 | 0.874 | 1,000 V3161 o1a7 | o767 | 1575 | w@xie2s | 0748 | 1102 15,99
184 JM ' ' ’ ' ' 1 250 : : ’ ) : ’ 17,020
W213/5 JM : 20,787
213 JM 1,770 18,678
215 JM 20,174
W254/6 JM 0.630 26,023
254 JM 1,750 24,370
256 JM 26,102
284 JM )13 27,165
286JM | 5250 | 5250 3006 | 1,249 | 1,375 | 1,750 | < >0 | 0250 | 1,110 | 2480 | 1/2°X13-2B | 0.984 | 1,496 28,700
324 JM 28,149
2,360
326 JM 29,645
364 JM
2,756 33,031
365 JM
NEVA SHAFT END - TYPE JP c
FRAMES LENGTHS DIAMETERS KEYWAY THREADED HOLE
AH | ER | EQ | ET U EM | EL | EP | S R ES D1 (UNC) | T 2 JP
143 JP 17,365
145 JP 1,156 1 1,179 18,365
Wis2/4JP | 7,319 | 7,319 | 1563 | 5941 | 0.874 | 1.000 0.187 | 0768 | 1575 | 3/8°X16-2B | 0.748 | 1,102 19,685
182 JP 1,250 | 1,376 19,057
184 JP 20,395
W213/5 JP 24,645
213 JP 22,550
215 JP 24,046
W254/6 JP 1770 28,900
254 Jp 26,964
— 1249 | 1375 | 1,750 0.250 | 1,110 25.7%
284 JP yqa. 30,079
o 8,130 | 8130 | 2,382 | 5,886 2163 2480 | 1/2X13-28 | 0984 | 1496 Tiars
324 JP 32,525
326 JP 2,360 34,021
=
1624 | 1,750 | 2,125 | 2,756 | 0.375 | 1,413
404 )P o
405 JP ,

B-84

Data subject to change without notice.

www.weg.net



=]

MECHANICAL DATA

RS — JM/JP TYPE
O

—
© .
B : -
— —&: lE ES S
= e S
— =] - X T
° ————G;JII_ S=RRITET= g e
— — 12| U
W %
= —HhiE
K BB ET
2F BA AH
B
C

g
=
=
=
=
E
x
S
w
H

Can’t find what you are looking for? Call 1-800-ASK-4WEG (275-4934) Data subject to change without notice. B-85





